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PART A:Grammar and Vocabulary

Directions: Choose the word or phrase (1), (2), (3), or (4) that best completes each sentence. Then mark the correct choice on your answer
sheet.

31-1 know that the kind teacher is going ... little children how to speak a foreign language.

1) to teach a 2) teach this 3) to teach these 4) teach the
32- Did you know that my brother and I ... in the zoo tomorrow for the first time in our lives?

1) are going to see a wolf 2) am going to see wolves

3) am going see wolf 4) are going see wolfs

33- The little boy ... his arm when he was playing volleyball with his classmates in the park.
1) followed 2) saved 3) stayed 4) hurt

34- Ali and Reza are two close friends. ..., there are some differences between them.
1) Together 2) Again 3) However 4) Hopefully

35-If everything goes according to ..., the work will be completed in December.
1) wildlife 2) period 3) poem 4) schedule

36- A: Do you have ... money to pay for that expensive computer?

B: No, my brother is going to lend me some money.
1) enough 2) common 3) proper 4) regular
PART B: Reading Comprehension

Directions: Read the following passage and answer the questions by choosing the best choice (1), (2), (3), or (4). Then mark the correct choice
on your answer sheet.

Sleep is very important. It’s just as important for your body as eating and exercising. If you don’t get
enough sleep, then you won’t be able to enjoy yourself. Going out with friends, playing sports, or
even watching movies will not be much fun if you’re tired. People of all ages need sleep, but different
people need different amounts. Babies sleep about twice as much as they stay awake. Teenagers need
about eight to ten hours a night, and older people need less. But one person may need more than
another even if they are both the same age.

Six out of ten children say they are tired during the day, which means they are not getting enough
sleep. How can you get to sleep? A good idea is to write down what you are thinking about before
you go to bed. Then, make sure your bedroom is as dark as possible, and it isn’t too hot or too cold.
You can also try reading a book. Don’t drink soft drinks or use your phone before going to bed.
However, playing games on your computer is the main one to avoid!

37- Which of the following statements is FALSE, according to the passage?
1) Babies spend more time sleeping.
2) Teenagers need less sleep than older people.
3) Too much light in the bedroom may stop us from sleeping.
4) Getting enough sleep is as important as eating and exercising.

[ (50 YY) 008 (Sl (L5 ol QS TV o 1 ) V5 209 (39037 SO p03 Aol y1 ]
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38- Based on the passage, we can say that ... is the worst thing to do before going to bed.
1) playing computer games 2) drinking soft drinks
3) having a short sleep during the day 4) using your phone

39- From the passage it can be understood that ... percent of children feel tired during the day.
1) ten 2) six 3) sixty 4) sixteen

40- The author of the passage mainly wants to say that ... .
1) getting enough sleep is necessary to enjoy watching movies
2) sleep plays an important part in doing our daily activities
3)it’s a good idea to read a book before going to bed
4) people cannot enjoy themselves if they don’t eat or exercise

GT Y1 — (1) oSS 343

A
PART C:Grammar and Vocabulary

Directions: Choose the word or phrase (1), (2), (3), or (4) that best completes each sentence. Then mark the correct choice on your answer
sheet.

41- A: Look at that bridge! I think it is not very safe.
B: Yes, it seems ... fall down.
1) it is going to 2) will
3) is going to 4) it will

42- Alice: Has John decided what to do when he leaves school?
Tom: Yes, everything is planned. He ... a holiday for a few weeks.
1) will have 2) have 3) is going to have 4) had

43-I’ve got ... with my computer. It isn’t connecting to ... .
1) a problem — the Internet 2) the problem — the Internet

3) some problem — Internet 4) a problem — an Internet

44- Shortly before the plane accident, the ... reported a problem with the aircraft systems and high
air pressure.

1) zookeeper 2) mountaineer 3) hunter 4) pilot

45- Children wish to be the center of ..., and parents should understand this emotional need.
1) pattern 2) danger 3) attention 4) rule

PART D: Cloze Test

Directions: Read the following passage and answer the questions by choosing the best choice (1), (2), (3), or (4). Then mark the correct choice

on your answer sheet.

Endangered species are those at the risk of dying out, meaning that there are a few left of their kind and
they could disappear from the ...(46)... altogether. As humans ...(47)... develop their societies by
destroying the homes of animals, it is not surprising that animals ...(48)... have a place to live in the
future. Therefore, we might lose those kinds that ...(49)... beauty and wonder to the ...(50)... world.

46- 1) report 2) Earth 3) plan 4) idea

47- 1) going 2) go 3) will go 4) are going to
48- 1) will 2) is going 3) are not going 4) won’t
49-1) add 2) answer 3) identify 4) follow

50- 1) singular 2) natural 3) plural 4) important
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